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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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5.7 o wE
15.6
15.5
15. 4
15.3
T T T
890 895 900
m=800,m FV0=0
—o— MW
42
41
40 -
800 805 810
m=920,m FV0=0
49.0 1 —o— MW
48.5
48.0 -
47.5 -
47.0 -

925 930

m=800, FV0=0

14. 20 -
14.18
14.16
14.14 1
14.12 1
14.10 - - ME
T T T
800 805 810
m=920,m FV0=0
16.001 o ¢
15. 95
15. 90
15. 85
15. 80
15. 75
15. 70 -
T T T
920 925 930
m=830,m FV0=0
45 -
—— MW
44 -
43
42
830 835 840
m=970,m FV0=0
49.0 —— MW
48.5
48.0
47.5 4
47.0 -
970 975 980

14.

14.

14.

14.

14.

14.

14.

16.

16.

16.

15.

15.

15.

15.

m=830, FV0=0

60

55 A

50 -

45

40 -

35 A

30 A

—e— ME

830

855 8&0
m=970,n FV0=0

10 1

05 ~

00 -

95

90 -

85 ~

80 ~

—o— M_E

T
970

9;5 9é0
m=860,n FV0=0

46 -

45 -

44 -

—o— MW

860

865 870

m=860, FV0=0

15.2 A

15.1 4

15.0 A

14.9 4

14.8 -

—e— ME

T
860

T
865

870

48 -

46 -

44 -

42 -

40 -

—o— MW

T
800

T
850

960
m=890,n FV0=0

T
950

T
1000

48.5 A

48.0 A

47.5 A

47.0 A

46.5 -

46. 0 -

—o— MW

890

895

900




hour

:00 -
145 -
:00 -

:00
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:05
:50
:35
:20
:00
:35
115
155
:40
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80

- 60

- 40

§_

%

%

e
6\
%
7
e
-
%,

o

\ R
N N
K
Q\z\ %7\

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P3-4

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK EE

05:50 273 150.0 [Z=| 1BRi8@05:50 Bzh (KEERESE)
07:00 273 150. 0 E[  BRi%e07:00 Ba1 (RAERSE)
07:45 273 150.0 F BRi%e07:45 Bz (GREERE)
08:55 273 150.0 & 1RiRe08:55 B (KREERE)
10:05 273 150. 0 E BRi%e10:05 Bzl (GRAERERE)
10:50 273 150.0 S {Ri%@10:50 B3 (GRAERSE)
11:35 273 150. 0 E BRi&e11:35 Bz CGRAEESE)
12:20 273 150. 0 E BRige12:20 Bz (GRAERESE)
13:00 273 150.0 5| {Ri%e13:00 B3 (RAERSE)
13:35 273 150.0 = {RRiB013:35 B (RFAKESE)
14:15 273 150. 0 E BRige14:15 Bz CGRAEESE)
14:55 273 150. 0 El 1BRi&e14:55 Bz GRAEREE)
15:40 273 150.0 & =| 1Ri%e15:40 Bz (kAEREE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

HEARHEME STEAERTS (176.0 : 142.0), AIgEMF—RE XAH45
BRI\ SEPRERL142. 0 ml.

BEREBIEC (2635.0) 5i¥TEEC (2000.0) HEILKA, BFHE
#ERECE (2635.0 vs 4118.0) s



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=45 (2025-05-13)

1 e g g e S S B S g

VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 2112
1760 1800 704 - 2000
100 41400 326 454
50 - 1000
66 Warning: lcol [FVI',| "FVO’'] missing 26
0 -0
200 ¢ FRV —— ME #30
maxM
1 e e 2 2 % -t : :: & +—————_—,—,—,—,— [ 25
(NN
100 - L 20—
50
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @47 14:05: ET=1677 Fg=1950. 0 Ro=268.0 : t
300 - 1
: - 2000
200 -
1
p—— o ——— @ I : I O
Om\.—.——-/ E— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
200 Z=| B | A | BB | BB | B | 5| BB | BB | BE B 5 | B | B5 | BE | B 5 5 B 5 5 g | M| W
7 I
ByEt @D45 19:10: ET=1723 Fg=1704. 0 Ro=nan I - 2000
200 - *—@ ] . J
100 - 1000
) o—0—0—0—0— \I\ I
0p—a & & 2 a2 o \l\‘\ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
200 %n=| BB A EHERRERER L g g i 5 5 g 5 |25 |Z2=|%=| A [Dm| BB [/hF| BB FH
7 I
ByWoFv @D47 14:05: ET=1454 Fg=1950.0 Ro=472.0 1 o &) e & = @ © - 2000
200 - —o—¢—9
100 pr - 1000
\
10—a o o o e \\\\\\-———_________¥______ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - | BB A EHERRERER L g g i 5 5 5 5 |25 |Z2=|%=| A [Dm| BB [/hF| BB FH
0.6 -
0.4 1
0.2 A
0.0
1500 4 — | N
[ ] | _obs
1000 + —@— PPFD obs
500 -

60
~ — RH
40 7 ®  RH obs
o RHo obs

4] of e v P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



16. 0

15.5 A

15.0 A

14.5 ~

14.0 A

15.

15.

15.

14.

14.

14.

14.

15.

15.

15.

15.

15.

16.

15.

15.

15.

15.

15.

M_E

T
600

T T
800 1000

m=625,m FV0=0

10

05 ~

00 -

95

90 -

85 ~

80 ~

——

M_E

650 655
m=805,n FV0=0

20 A

15

10

05 A

00 -

M_E

805

8%0 8%5
m=990,n FV0=0

00 ~

98 -

96

94 -

92 -

90 -

——

M_E

14.

14.

14.

14.

13.

13.

13.

15.

15.

15.

15.

15.

14.

14.

15

15

15

15

15

15

m=460, FV0=0

M_E

T
460

465 4%0
m=675,n FV0=0

20 A

15 1

10 4

05 -

00 -

95 A

90

——

M_E

GéO 6é5
m=840,n FV0=0

.6

.9 A

41

.31

.2 4

.11

840

845 850

600

800

1000

m=500, FV0=0

14.6

14.5

14. 4

14. 3

14.2

15.

15.

13.

15.

15.

15.

15.

M_E

565 5%0
m=720,n FV0=0

30 A

25 A

20 -

15

10 ~

05 ~

00 ~

7&5 7é0
m=895,n FV0=0

15.7

15.6

15.5 A

15. 4 ~

15. 3

895

960 965
m=460,n FV0=0

45 ~

44

43 A

42 -

——

M_W

460

465 470

15.

14.

14.

14.

14.

14.

14.

15.

15.

15.

15.

15.

16.

15.

15.

15.

15.

47.

46.

46.

45.

45.

44.

m=530, FV0=0

00 A

95 A

90 -

85 A

80 -

75 -

70 A

M_E

5%5 5é0
m=765,n FV0=0

20

15 4

10

05 -

00 -

7%0 7;5
m=935,n FV0=0

935 940 945

m=500,m FV0=0

-— MW

500 505 510




m=590, FV0=0

48. 0 -

47.5

47.0 -

46.5 -

46.0

45.5

—o—

MW

T
550

5%5 5é0
m=765,n FV0=0

47.0 A

46.5 -

46.0

45.5 -

45.0 -

44.5

—— MW

7%0 7;5
m=935,n FV0=0

48.5

48.0

47.5 -

47.0

46.5

46. 0

—o—

M_W

935

940 945

47.

47.

46.

46.

45.

45.

44,

47.

47.

46.

46.

45.

45.

44.

49.

48.

48.

47.

m=625, FV0=0

—o—

MW

T
625

650 655
m=805,n FV0=0

—0—

M_W

T
805

8%0 8%5
m=990,n FV0=0

——

M_W

990

992 994

996

47.

47.

46.

46.

45.

45.

44.

48.

48.

47.

47.

46.

46.

m=675, FV0=0

—0—

MW

T
675

6é0 6é5
m=840,n FV0=0

—0—

M_W

T
840

T
845 850

47.

47.

46.

46.

45.

45.

44.

m=720, FV0=0

—— MW

T
720

7é5 750
m=895,n FV0=0

48 -

47 -

46 -

45 -

—o— MW

T
895

T
900 905




hour

125
125
110
:00
:45
125
:05
:05

100

80

- 60

- 40
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’-X‘f
%
%
%
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P3-4

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:10 273 150.0 (Z=| 1BRige07:10 Bzh (REERESE)
07:55 273 150.0 |Z=| 1Ri%@07:55 Bzh (KAHERESE)
09:20 273 150.0 PA| {Ri%@09:20 Bz (GkAMEE:E)
10:25 273 150.0 FH| {Ri%e10:25 Bzh (RAERESE)
11:25 273 150.0 FA| 1BRi%@11:25 B3h (RAHERSE)
12:10 273 150.0 FR| {Ri%e@12:10 Bz (GRAHEEEE)
13:00 273 150.0 FA| 1B2i%@13:00 B3h (RABERESE)
13:45 273 150.0 FA| 1Bi&@13:45 B3h (RAFEREE)
14:25 273 150.0 FR| {Ri%@14:25 Bz CGRAERSE)
15:05 273 150.0 FH| 1BRi&e15:05 Bzl (GRAEREE)
16:05 273 150.0 FE| 1BRi&@16:05 Bzh (RAEREEE)
23+ 3003.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

HEARHEME STEAERTS (176.0 : 142.0), AIgEMF—RE XAH45
BRI\ SEPRERL142. 0 ml.

BERESIEC (2610.0) 5iTEEC (2000.0) HEILKA, BFHE
#ERECE (2610. 0 vs 3855.0) s



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=44 (2025-05-12)

LI S T T T e e i R T - 2000
VI, VOS8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1760

1400 308 1400 42021 1500 =
100 - o

- 1000 £
50

FRV

- 500
150 Warning: lcol ['FVI',| "FVO'] missing 66

r 0
200 4 FRV — ME f30

150 == —m m - 25

M_E

100 A - 20

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @47 14:05: ET=1294 Fg=1500.0 Ro=180.0
- 2000

- 1000

100 -
| | S Db ||,
FH

cumET (ml/plant)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

PH [Z=| P4 [ BA | PH [ BA | B [R5 | BH [ BA | BA [ B3 | BA | BH | BA [ A 5 [ B | B5 | B [ | BA | BA 2000
: A

300 1 ByEt @D44 19:08: ET=1579 Fg=1420.0 Ro=nan 1

200
- 1000

i

|

|
100 - - :
————& & e D

- ——- = 1

40040 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BBl M (285|225 (25|12 |25 %= B [ BB [ BB | A [ B | BB | A [P | B | B[ I|Z=[25|5=|%E

300 1 ByWoFv @D47 14:05: ET=1337 Fg=1650.0 Ro=422.0

@
cumET (ml/plant)

L

- 2000

200
- 1000

100 - -
e ey —
1.0 — . o 0

0osl A | B [BF|SF|2FE(% BH | B [ BH | BA [ BA [ BA | BA | BA | BB | BB | BB | R |ER[EE[EE

ET (ml/hr/plant)
cumET (ml/plant)

|

M
N
ol
®
M
®Q
ol

0.6

0.4+

0.2~

0.0

1500 4 — | N
[ ] | _obs

—@— PPFD obs

— 4
80 RH
o RH_obs
o RHo_obs
60
40 ~

e v P




15.

14.

14.

14.

14.

14.

13.

14.

14.

14.

14.

14.

14.

14.

15.

14.

14.

14.

14.

14.

14.

—O—

3

M_E

T T T
600 800 1000

m=655,m FV0=0

80 ~

75

70 -

65

60 -

55 1

50 A

M_E

660 6é5
m=865,n FV0=0

00 ~

95 -

90

85 ~

80 -

75 1

70 -

850 8%5
m=440,n FV0=0

46

45 -

44 -

43 -

- MW

il
-
i

440 445 450

14.2 A

14.1 4

14.0 -

13.9 4

13.8 A

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

48. 0 -

47.5 -

47.0 A

46.5

46. 0

70 A

65

60

55

50

45

40

80

75

70

65

60

m=440, FV0=0

M_E

T T
440 445 450

m=720,m FV0=0

—o— ME

.

T T
720 725 730

m=930,m FV0=0

—o— ME

i

9é5 9&0
m=500,n FV0=0

930

-— MW

505.0 507.5 510.0

m

500.0 502.5

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

m=500, FV0=0

80 A

75

70 -

65

60

55 -

50 A

M_E

T
500.0

T T T
505.0 507.5 510.0

m=760,m FV0=0

T
502.5

90 A

85 A

80 -

75

70 -

65

60

—&— M_E

7é5 7%0
m=1000m FV0=0

90 ~

85 -

80 A

75

70 -

65

60

1000

10b5 10H0
m=565,n FV0=0

48.0

47.5 -

47.0

46. 5

46. 0

45.5

-— MW

565 570 575

15.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

46.

46.

45.

45.

44.

44,

43.

m=565, FV0=0

00 A

95 A

90 -

85 A

80 -

75 -

70 A

M_E

5%0 5;5
m=815,n FV0=0

90

85

80 -

75 A

70 -

65

60 -

48 -

47 -

46 -

45 -

44 -

43 -

M_W

400

600 800 1000

m=6595,m FV0=0

-— MW

655 660 665




m=720, FV0=0
—0— MW
45
44
43 A
T T T
720 725 730
m=930,m FV0=0
46 4 —@— MW
45
44
43
T T T
930 935 940

m=760, FVO0=0
—— MW
46 -
45 -
44 -
760 765 770
m=1000m FV0=0
—o— MW
46 -
45 -
44 -
1000 1005 1010

m=815, FV0=0

—— MW
46
45
44 -
T T T
815 820 825

m=865, FV0=0

46.5

46. 0

45.5

45.0

44.5

44.0

43.5 -

——

M_W

865

T
870 875




hour

:00 -
:05 -
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145
:35
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:05
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110
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110

100

80

- 60

- 40

§_

%

By

%
6\
%
7
e
BN
%y

%

\ R
N N
4
Q\z\ %7\

2
N
L

&

§

%,
&

W ’@(26_.?
%

%

3,



P3-4

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK EE

07:15 273 150.0 S| {Rige07:15 Bz (RAERSE)
08:00 273 150. 0 E  1BRi%e08:00 Bl (RAERE)
08:45 273 150.0 F BRi%e08:45 B (RAERE)
09:45 273 150.0 =] {Ri%009:45 B (REAHRESE)
10:35 273 150. 0 F BRi%e10:35 Bz (GRAERERE)
11:20 273 150.0 S {Ri%e11:20 B3 (GRAERSE)
12:05 273 150.0 =l RRiB@12:05 B (REAEEE)
12:50 273 150. 0 E BRige12:50 Bz (GRAERESE)
13:35 273 150.0 5| {Ri%e13:35 B3 (RAERSE)
14:25 273 150.0 = RRiB014:25 B (RFEAEESE)
15:10 273 150. 0 E BRi&e15:10 Bz CGRAEREE)
16:00 273 150. 0 El BRi&e16:00 Bz (GRAEREE)
17:10 273 150.0 =l RRiB17:10 Bz (REAEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

HEARHEME STEAERTS (176.0 : 142.0), AIgEMF—RE XAH45
BRI\ SEPRERL142. 0 ml.

BEREBIEC (2650.0) 5iTEEC (2000.0) HEILKA, BFHE
#[EKECE (2650.0 vs 3635.0) 1R e



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=43 (2025-05-11)

150 m———e e ————
VI, VBP®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
1700 1760
100 - 1400 342854 1500 1
181 _
1000 ~
50 =
00 - 500
Warning: lcol [FVI',| "FVO’'] missing 150
0 + -0
200 ¢ FRV —— ME #30
maxM
L T Tt L 25
I-ul
100 i | 20 =
50
e T e e g e T | | - r 15
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
908 i
Bylnit @D47 14:05: ET=1768 Fg=2250.0 Ro=489.0 ! 3000
300 - : s
! L 2000 &
200 - E
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100 - - 1000 &g
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] 1 c
300 1"ByEt @43 19:08: ET=1670 Fg=1420.0 Ro=nan I S
! L 2000 &
200 - E
'—
100 - - 1000 &g
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p—S @ © @ \ ]
=N V=N V=N S 0
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i | B | B | B ||| BB 8 i 5 5 5 i 5 5 5 B 5 REREFRERS o~
] 1 c
300 1 BUloFy @D47 14:05: ET=1350 Fg=1950.0 Ro=478.0 I &
! L 2000 &
200 - I E
'—
100 - - 1000 &g
[&]
p—S @ © @ S
0 1 2 3 4 5
ogl B[ | B | B | B | &
0.6 -
0.4 1
0.2 A

80 -

60

40+ —— R

|
| _obs
PPFD_obs

[ ] RH_obs
(] RHo_obs




15.

14.

14.

14.

14.

13.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

00 A

75

50 -

25 -

00 ~

75

M_E

T
600

860
m=645,n FV0=0

——

M_E

660 6%5
m=880,n FV0=0

880

8é5 860
m=495,n FV0=0

46 -

45 ~

44 -

43

——

M_W

495

500 505

m=495, FV0=0

14.0 A

13.9 4

13. 8 A

13.7 4

13.6 -

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

560 565
m=705,n FV0=0

40 -

35 -

30

25 -

20 A

7%0 7%5
m=945,n FV0=0

60 -

55 -

50

45 -

40 -

35 A

30 -

950 9%5
m=530,n FV0=0

47.5 -

47.0 A

46.5 -

46.0

45.5 -

—o—

535 540

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.
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